Logic puzzles – 2 points each
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Age Clues  Answer

1. The oldest kid goes to bed 30 minutes
earlier than Harold.

2. Donald sleeps later than Vincent.

3. Donald is 6 years old.

4. The youngest boy sleeps at 8:00 PM.
Harold 5. The kid who sleeps at 8:30 PM is
either the 6-year-old or Harold.
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g ° Clues  Answer
x x ¥ 2|2 2 2 o
2 8§ 8 8| 8 3 8 1. The German car has 30K miles.
2. The car with 20K miles is from the Japanese manufacturer or
N it charged $1.5.
3. The French car has less miles than the Italian car.
German 4.The vehicle that charged $3.0 has 10K more mileage than the
Italian car.
talian 5. The car that charged $4.5 has 20K less mileage than the
German car.
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